EA966CE-21~-36 (RTUL R AE/AL—FHT—)

* % K
@ AN th DB AT B/ SL— R AT DHF—TT,
O {111 O REEL YIS CRETT,
OEDLENAC. RREHOLBIKERISRETT .

B #HHE - XTULA(SUS304)
o RE VANES = PARY JNA T
& ¢ BH8 | ¢ D01 | L=01 X Y M Wb
EA966CE-21 5 20 10 6 4 M4XPO0.7 M4X10
EA966CE-22 6 20 10 1 6 4 M4XPO0.7 M4X10
EA966CE-23 8 25 10 15 8 5 M4XPO0.7 M4X12
EA966CE-24 10 30 10 1.5 9 5 M4XPO0.7 M4X12
EA966CE-25 12 30 10 1.5 10 5 M4XPO0.7 M4X12
EA966CE-26 13 30 10 15 10 5 M4XPO0.7 M4X12
EA966CE-27 15 35 12 15 12 6 M5XP0.8 M5X16
EA966CE-28 16 35 12 1.5 12 6 M5XP0.8 M5X16
EA966CE-29 20 40 12 1.5 14 7 M4XPO0.7 M4X16
EA966CE-30 25 45 12 15 17 7 M5XP0.8 M5X16
EA966CE-31 25 50 15 15 18 10 M6XP1.0 M6X25
EA966CE-32 30 55 15 1.5 20 10 M6XP1.0 M6X25
EA966CE-33 35 60 15 2 23 12 M6XP1.0 M6X25
EA966CE-34 40 70 18 2 26 13 M8XP1.75 M8X30
EA966CE-35 45 75 18 3 28 14 M8XP1.75 M8X30
EA966CE-36 50 85 22 3 32 16 M10XP1.5 M10X35
(B mm)
g | B mm

+
¢B
|
|
1
\

L/2

L=0.1 |

QB nE
gB [ uE
+0.03
23~€ | 1907

+0.05
?8~45 | 5]

+0.06
#50~120| 190




